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R mwn: Rule of mnn mron wnn
a  Unqualified 72 7991 I00W NRON ARV NAN ,NRON TON
b Qualified 7y if its year has lapsed or it was lost, then found as o nYya
i Ifafter 7792 it dies, does not generate nnn, NRin is prohibited (v”1n) but n’yn doesn’t attach
ii  If before 779> graze and sell and buy another; it can generate nmnn and n%yn attaches
Analysis of mwn: why weren’t all five taught together?
a  Answer: since the first three have an unqualified ruling and the last two are “split”, taught separately
i Note: this mwn also appears (verbatim) in n%yn (x:1)
ii  Explanation: it appears here due to mention of NN and n%yn is mentioned 238; inverse in NYyn
wpY 12 w™'s ruling: if a nkon’s year lapsed — nyn
a  Challenge: from our mwn
b Answerl: nnn only refers to the “lost and was found with a nmn”
i Challenge: in R0, grazing “until it gets a D1 is mentioned” — but if already n”ya, nothing to wait for
¢ Answer2 (727):if a 72 D0 was found, let it graze until it gets a yap oin
i Challenges (837): (1) should read mmw’ (not nyv); (2) — why is nmw N1y invoked at all in our mwn?
ii ~ Rather (X¥37): read nTaR as referring to both: year lapsed and then lost, lost and was found with a omn
1 Justification: perhaps n7ar only generates nn’n for lapsed year, as it was already unfit for nron before n1ar
(a) And: perhaps n7ar only generates nn'n for n”ya, as it is now unfit for any 127p >R2¥
2 Challenge: 11 holds that n%"% n7aR is not NTaR (i.e. NTaR at time it couldn’t be brought) = nmw nY:nYY
(a) Defense: n% is not a time when it could be brought or anything could be brought with its funds
(b) Whereas: nmw n12% is unfit for this 127p, but its value could be used to buy j21p to be brought now
3 Challenge: ®:y Rnv; if one of nyw dies after N9 n, we do another 511 and unneeded one is Ny
(a) Reason: because nnn Max nron PR =Dif it were T, it would die
(i) And: per 3nv "1 - n"pa have N1 Hthe M91 is with 274 one of 27 pair; 1t “extra” is now like nmw may
(b) Defense: cannot challenge from 1n7; they are totally unfit, unlike a lost animal which may be found
Revisiting ®17’s ruling about n%%2 nTaR not being nTax
a  Question: according to whom is he ruling? (a7, who holds that nnn nwian npwa NT7aR or 1327 — only NN 1793 NYW1 NTaR)
i 23752 (1321 would consider even by ok, as long as found before n193) — 27 doesn’t consider n»% significant
ii 2375 case where it was lost at time of 0793 but at night — perhaps if it first got lost at night, not "nT1ar”
Definition of nax:
a 72wy nTaRr doesn’t mean stolen or burgled
b Definition: any form of “lost”
i Nwwix 1. even if he sees one more than expected in his flock but can’t tell which is the nxon, even 1 mixed with 1
ii 2 1. even behind the door
1 Question: does he mean “out of sight” =»if outside and visible, not lost
(a) Or: does he mean “even behind the door” which he could turn his head and see — "y outside is lost yp'n
iii 97 if either he or the shepherd sees it, not nax
1 Question: if both he and the shepherd can’t see it, but someone somewhere can — is that “lost”? 1p'n
iv 977 if itis 0122 NTAR —is that nTar?
1 Versionl: according to 1327; is the ©132 07 which is about to be 1 (>n192) considered 1 already or not?
2 Version2: according to »a1 and there is no lost animal; just one of the two cups of nxon 7 got lost
(a) clarification: according to approach that »1n7 1912an nw 07, no question — already %102
(b) question: according to approach that 0»1w y17an nwy 07 — perhaps that is only if both cups are extant
(i) or: perhaps it makes no difference - yp'n
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